e | w4 wams | vy 0| PEREERUIER paeme | maranR | SReew FRERT e
1 X FEMI 105583890123936 | ki 2 75 83 226 384 EEk Ffih R 2 EREY (OTEYD

2 N 105583890123942 | FLRfiEE 2 73 78 222 373 4 [ il At RS (OTFES

3 EE 105583890123950 R PR 2 70 71 212 353 4 H il R PR 2 AR (BT

4 il 105583890123938 |  JLifi[E 2 72 67 212 351 4 [ il Fefih R 2 EREY (OTFEY

5 B 105583890123947 | FLRfiEE 2 66 70 214 350 EEk A RS (OTFES

6 R 105583890123952 |  JLifi[E 2 66 59 218 343 EEk Ffih R 2 EREY (OTEYD

7 )14 105583890123944 | FLRfiEE 2 64 62 215 341 EEk e Yillres FERHEE S (O FEE

8 IR 105583890123943 | FLRfiEE 2 69 70 199 338 4 [ il At FERHEE S (rFEE

9 R 105583890123945 |  FLafiEE 67 65 201 333 4 Hl LR FEAHES (FFES

10 T R 105583890123595 | I iR IE 2% 72 62 209 343 4= H il I PR = 2 R 5 A ol A 2

11 RTE 105583890123596 | IGAKRES 63 62 178 303 E=k il I PR = 2 FEHR Sl AR

12 W% 105583890123600 | IR [ 2 78 72 227 377 4 H il e R = Fe I 55 10 2

13 ] 105583890123607 | IR E 72 79 177 328 4 H il Il R 1 Fifr g8 2

14 T 105583890123609 | IfKES 66 71 184 321 4 [ il I PR = 2 Jige 2+

15 R 751 105583890123614 | IGAKES 67 61 215 343 E=k il I PR = 2 R (9D

16 AR 73 105583890123620 PR HAR 72 74 195 341 4 H il s N BRI B R =Rt el
17 EEpY 105583890118571 I PR = 2 82 72 240 394 A H il e PR = 2 IfREY: CEEREY)

18 I JAi 105583890118569 |  IGAKEE 77 52 241 370 E=k il I PR P& 2 IfGIREE S CEFES

19 B ERsE 105583890118573 | IR ES 70 69 229 368 4 H il e PR = 2 IfREY: CEEREY)

20 JAgEE 105583890118578 |  IGAKRESE 67 53 217 337 E=k il I PR P& 2 IGIREE S CEFES

21 XA 5 105583890118579 |  IfiKES 71 64 246 381 EEk e R = IGREES: CREAPIR S AE ol A7)
22 Pl 105583890118582 |  IGAKRESE 78 78 225 381 4 Hil I PR 1% 2 I REE 2 CRE i S AE ol B A5
23 RS 105583890118590 | G EZ: 64 52 218 334 4 H il I PR = 2 IfREY: (SRES

24 W 105583890118599 |  IGAKEE 79 70 220 369 4 H il I PR = 2 IEIREES: CHFFED

25 B 105583890118598 | IR [ 2 74 82 210 366 4 H il e R = IfRES CHRRE

26 FIIRAS 105583890118597 | IR E 67 55 215 337 4 H il I PR = 2 EIREES: CHFFED
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27 G X 105583890118592 | IR =2 67 57 197 321 4 H il e R = IfRES CHRREL
28 A 105583890118593 | IR E 68 62 185 315 4 H il I PR = 2 IGIREES: CEFFED
29 FES 105583890118609 | IGAKREZ: 77 81 226 384 4 H il e R = IGIREE % Car=Ra)
30 P 105583890118608 | IGAKRES 69 68 244 381 Eg=k il I PR = 2 GRS Car=Rlas
31 TR 4 105583890118607 | IR E3 65 80 224 369 4 H il e R = IGIREE % Car=Ra)
32 L] 105583890118614 | IGAKES 68 62 230 360 E=k il I PR = 2 IGREE S Car=Rkas
33 It 105583890118610 | IR ES 67 64 225 356 4 H il e R = IGIREE % Car=Ra)
34 MRE 105583890118604 | IGAKEEE 76 62 197 335 4 H il I PR = 2 GIREE S CAar=Ea FE-h
35 Pelbe i 105583890118611 e R = 71 72 184 327 4 [ il e R = IRIREE2: A= HE4)
36 i g3 105583890118620 | IGAKEE 77 82 234 393 4 Hil I PR = 2 I PRI 2% CIlfi PRI )
37 ok 105583890118619 |  IGAKREZ: 74 62 243 379 4 H il I PR = 2 R EE S i RIS EDD
38 FH% 105583890118621 I PR = 2 64 75 238 377 Eg=k il I PR = 2 AR EE 2 QAR ELD e
39 Tkt 4 105583890118650 | IR E3 75 81 241 397 4 H il e PR = I RES (R4
40 JAA 105583890118627 | ImRES 71 79 245 395 4 H il I PR = 2 G RES (MRS
41 At 105583890118652 |  IGAKREZ: 70 53 255 378 4 H il e R = I RES (R4
42 TR 105583890118629 | IGAKES 65 73 239 377 E=k il I PR = 2 G RES (MRS
43 B 105583890118645 |  IGAKRE: 73 71 224 368 4 H il I PR = 2 I REE % (e %)
44 TR 105583890118632 | IGAKESE 66 64 235 365 E=k il I PR = 2 G RES (MRS
45 WER(E 105583890118644 | IR ES 60 75 230 365 4 H il e R = I RES (R4
46 R 105583890118630 | IGAKEE 67 64 224 355 E=k il I PR = 2 G RES (RS
47 st 105583890118626 | IR 67 69 215 351 4 H il e R = I RES (iR
48 fApf& 105583890118648 | IGAKES 66 68 216 350 E=k il I PR = 2 G RES (RS
49 W 2R 74 105583890118661 e R = 80 80 249 409 4 [ il e R = IGREE 2 ORUR AR5
50 R 105583890118662 I PR = 2 80 69 248 397 4 Hil I PR 1% 2 IGRES: GRETBED
51 R I 105583890118672 | IR ES 78 69 245 392 4 [ il e R = IGREE 2 ORUR AR5
52 R 105583890118658 |  IGAKRESE 68 65 254 387 4 Hil I PR 1% 2 I REE 2 GRU 85
53 W 105583890118669 | IR 74 69 230 373 4 [ il e R = GRS ORUR AR %)
54 HE 105583890118674 | IGAKES 70 55 233 358 4 H il I PR = 2 I REE 2 GRU 85
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55 i 105583890118666 | IR 64 50 239 353 EEN e R = IRREE 2 ORUR AR5
56 Ve lli 105583890118678 | IGAKESE 78 64 209 351 4 Hil I PR 1% 2 IGREES: GREBED
57 FEM 105583890118667 | I RE 67 71 208 346 EEk e R = IRREE 2 ORUR AR5
58 Kz 105583890118664 | IfAKEE S 69 49 219 337 4 Hil I PR = 2 G PREE S OGRS ) bt aen
59 FEHER 105583890118668 | IR 69 50 215 334 4 [ il e R = IGREE 2 ORUR AR5
60 W 1E 3 105583890118676 |  IfAKEE S 61 52 218 331 4 Hil I PR = 2 I IREE S OGRS ) bk aen
61 B 105583890118673 |  IGIRE 63 58 209 330 4 [ il e R = IGREE 2 ORUR AR5
62 ZEUR IR 105583890118670 | IR E 68 57 200 325 4 H il I PR = 2 I REE 2 GRU 85
63 ¥ 105583890118688 | IR ES: 67 82 256 405 A H il I PR = 2 IfRES (ZED
64 AR 105583890118685 | IGAKRES 66 77 236 379 Eg=k il I PR = 2 IGRES (ZESD
65 fEs ¥ 105583890118682 | IR 77 65 236 378 4 H il e R = IfRES (ZESD
66 TRt 105583890118689 |  IGAKEE S 77 81 220 378 Eg=k il I PR = 2 IGRES (ZESD
67 HER 105583890118691 e R = 74 58 225 357 4 H il I PR = 2 IfRES (KBS Wi TR
68 B JRH] 105583890118701 I PR = 2 68 70 254 392 E=k il I PR = 2 MBS CL LD
69 A5 105583890118696 | IR E 3 75 64 241 380 4 H il e R = AR GO L)
70 SR 105583890118700 | IGAKESE 61 66 241 368 E=k il I PR = 2 PRk GOIERD
71 FERE 105583890118699 | IR =2 66 64 235 365 4 H il e R = AR GO L)
72 25 R 105583890118694 |  IGAKEE 60 62 225 347 E=k il I PR = 2 PRk GO IERD
73 MRz 105583890118692 | IR E 3 68 61 188 317 4 H il e R = WA GO I )
74 X 105583890118709 | IR E 67 74 202 343 E=k il I PR = 2 PRk (FRIR R 7D
75 HER 105583890118705 |  IfGIRE 67 50 205 322 4 H il e R = WREE (RRIR R 95D
76 I 105583890118706 | IGAKRES 70 79 173 322 E=k il I PR = 2 PREE (FRIR R 78D
77 FEK 105583890118711 e R = 74 80 249 403 4 H il e R = MR (A 55 D
78 =W 105583890118713 | IR E 77 75 226 378 E=k il I PR = 2 MR (A5 AHHH)
79 1S 105583890118740 | IGAKREZE 77 77 252 406 A H il I PR = 2 SRR (D)
80 o5 5L 105583890118730 | IGAKESE 78 65 248 391 E=k il I PR = 2 HhEFE (D WHE Lk
81 KT 105583890118742 |  IGAKREZE 76 70 234 380 A H il Il PR = 2 HAEFE (AM) -t
82 ik 8 105583890118733 | IR E 79 65 225 369 4 H il I PR = 2 HhEFE (D
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83 5 4y th) 105583890118745 |  IGAKREZE 75 77 208 360 4 H il e R = HhEEE (D) WL

84 =K 105583890118738 | IGAKESE 72 53 233 358 Eg=k il I PR = 2 HhEFE (D

85 M 105583890118723 |  IGKES 66 68 223 357 4 H il I PR = 2 HAEFE (A -tk

86 Bl R 105583890118731 e PR = 2 64 59 234 357 Eg=k il I PR = 2 HhEFE (D

87 BT 105583890118724 | G EZE 64 73 217 354 4 H il e R = HhERE (D) R

88 T 105583890118743 |  IGKES 69 68 208 345 A H il I PR I 2+ SRR (A wE-th

89 FE—uk 105583890118741 e R = 67 55 216 338 A H il e R = hEEE (M)

90 XI| 38 105583890118728 | IR E 58 74 201 333 4 H il Il PR = 2 HhEFE (D

91 25 T3 R 105583890118727 |  IGAKREZE 62 58 210 330 4 H il e R = SRR (D)

92 R 105583890118755 |  IGAKESE 71 72 236 379 E=k il I PR = 2 HVEEFE QURAM

93 A 105583890118748 | G EZE 65 73 234 372 4 H il e R = HREE GBIRAM

94 il 105583890118756 | IR E 65 75 231 371 4 H il I PR = 2 SRR GRS

95 B 105583890118747 |  IGAKREZE 71 72 200 343 4 H il e R = HREE GBIRAM

96 XER 105583890118760 | IGAKES 70 69 223 362 E=k il I PR = 2 SR (LA

97 WL | 105583890118761 e R = 63 56 213 332 4 H il e R = SR (LA SRl

98 S 3| 105583890121765 F R 2 75 82 189 346 E=k il Wyl MR EE S (HEENRED

99 WRAE R 105583890121764 s s 2 73 68 202 343 EEk s % OFEIGRES: (ORENRZED
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